
Beginning of
impermeable
compression
at r = r*

Low bound
r = B/A

High bound
= r*

dy/dx = 0,
d2y/dx2 > 0

< 02y/dx2d
dy/dx = 0,

= 02y/dx2d

Root of cubic
equation at
r = rf
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Cubic equation of the
form Ar
that must be iterated
to solve for radius in
the impermeable
range of the VPM

3 - Br 2 - C = 0

VPM:  Solving for radius in the impermeable regime

Tip:  When using a numerical
method such as Newton-Raphson,
set high and low bounds as
indicated

are shown as examples
Note:  Axis scale values


